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1) NO CALCULATORS
1. If the graph of y = £ (x) is translated ¢ units ngilt, what equation will

represent this transformation?

A
Ry o P

2. Iy=f (x) is translated 5 units up, horizontally expanded by a factor of 3 and reflected in the y-axis,
what equation will represent these transformations? '

3. ‘For each of the following, write an equation that represents the indicated transformation.

a) Pz reflected in the x-axis and translated 4 units left

b) X +y" =1 vertically expanded by a factor of 5

¢) = translated 6 units down and 3 units right

4. If (xp) isapoint on the graph of y=f(x), what is the corresponding point on the graph of:

a) 4y:f(x—2)
b y=-f(2x)
c) | y-2=7"(x)

d) y=—2f(4x;4) =

P

5. Determine /' (x), the inverse of f(x)=¥x+4




Giveny = f(x), sketch the graph of y =2 {x—2) on the grid to the right.
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Given y = f (x), sketch the graph of y = -3 7 (x)+2 on the grid to the right.
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be how the graphs of the following functions can be obtained from the graphs of y = f (x) )

2=/ (x-5) 2. Sy=-f(x) 3. y=27/(1-x)
=i of the following relations, write an equation that represents the indicated transformations.
: 3 . . g . 1
y=f (x) vertical translation down 3 units, horizontal compression by a factor of 5
X+ =1 horizontal translation right 2 units, vertical expansion by a factor of 3.

f(x)=vx-4+3 reflection in the y-axis, vertical translation up 4 units

Given y = f(x). Sketch the graph of the following: a) y=f(-x)
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8. If (x, y) is a point on the graph ...what is the corresponding point | Answer : ‘]
on the graph of... 4
of... . )
D) y=7/(x) y~1=f(“15xj I'e
b) y=+x 3y=x+4d | :
) y=x° y=(x—-6) +2
d) x*+y"=9 (4x)2+(y+8)2:9 :
e) y=r(x) y=r"(x-5)
f) y=5 y=-5"
Bl Fe=ui y+2=sin—x
f(x—4)
9. If (6, —2) is a point on the graph of y = f (x) , what is the corresponding point on the graph of:
a)  y=-4£(3x) o y=|[f(6x+6)-3
b) y=—f"(=x) d) y=5f(—;—x+d4)
10.  If f(x)=mx+b, whatdoes (f(x)) equal?
11.
a) f(x)szB—x ¢) f(x):\3/x+1—2
b =3547 d - =
) S ) I
12. Given y = f(x). Determine an equation that represents the graph in diagram (a) and diagram (b).
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